Assignment 6

Foundations of Logic Programming

January 9, 2013

1. Prove that for a ground term ¢, o(¢) has the same value for all valuations
o. (Exercise 28 in the book)

2. Let E, F be expressions, S, T, U sets of expressions and C7, Csy, C3 queries.
Prove that

(a) E = E6, for all substitutions 6.

(b) Ef |= 3E, for all substitutions 6.

(¢c) If E and F are variants, then £ = F and F' = E.

(d) SU{E} EE.

() SET and T = U implies S = U.

(f) f E = F, then S |= E implies S = F.
)

(g Irs ): Cl — 02, then S ): 01,03 — 02703 and
S ': 03,01 — 03,02, for all Cs.

(h) IfS):Cl<—CQandS'ng<—C’3,thenS':C’1<—C’3.

(Exercise 31 in the book)



